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Part A
Section Id : 920906281
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906458
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090614175 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

1 few 71U g=riw 1 e O uga g Ui & ST al -

U g1 ORT H9A1 G 81 & &,

TR DI A1 B GR1 YT TH &,
qH &1 S &1 | a- 4R I €2
Y B Ul & 90N W &R & a,
P! iTad # gRRAR W A g,
fire= 31 3ifEl & ot @ Sffemy,
Uy TR QRI-URT UhT< 81 - &l

g BUSI-3US! Id FIGI-HT 3TeH,
¥ Hig-vA-, T 5 oI draH |

Sub questions
Question Number : 1 Question Id : 92090614176 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JURTeR Ul # U0 1 14 994 Hiferg|

(1)  WHT (2) Pd
(3) BIHIR (4) B
Options :

92090656001. 1
92090656002. 2
92090656003. 3
92090656004. 4

Question Number : 2 Question Id : 92090614177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Weg H1 fAd™ o1 g2

(1) USRI (2) SfoErI
(3)  3ulldl (4)
Options :

92090656005. 1
92090656006. 2
92090656007. 3
92090656008. 4

Question Number : 3 Question Id : 92090614178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090656009. 1
92090656010. 2
92090656011. 3
92090656012. 4

Question Number : 4 Question Id : 92090614179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A-HY Yeq, H HH-H1 THY TG g3l 67

(1) 3fegdiyE (2) HHYRY
3) fa1 @) dgsy
Options :

92090656013. 1
92090656014. 2
92090656015. 3
92090656016. 4

Question Number : 5 Question Id : 92090614180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1 &= 2 fog
(3) o (4) Ble
Options :

92090656017. 1
92090656018. 2
92090656019. 3
92090656020. 4

Question Id : 92090614175 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

2 few 71U y=riw &1 e O U g Ui & STl -

U &1 oRT 91 QR1 &1 o &,

TR B B BT GR1 YT TH 3,
qH &1 ST &1 i d-4R 3T €2
3 B U9 & WM W R A g,
! sifad 7 gRR R T 2,
fire= 31 3ifEl & ot &1 Sy,
Uy TR QR1-UR1 UhT< g1 - &l

g BUSI-3US! Id FHIGI-HT 3TeH,
H Aig-v-t, I =g s araH |

Sub questions
Question Number : 1 Question Id : 92090614176 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR Ui H YT 1 A1 994 Sifeid|

(1)  UHK ) Pd
(3) BIWIR (4) UHI
Options :

92090656001. 1



92090656002. 2
92090656003. 3
92090656004. 4

Question Number : 2 Question Id : 92090614177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3RI s T fAEH o1 g1m?

(1) UPR (2) IR

(3)  3ulldl (4)
Options :

92090656005. 1
92090656006. 2
92090656007. 3
92090656008. 4

Question Number : 3 Question Id : 92090614178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090656009. 1
92090656010. 2
92090656011. 3
92090656012. 4

Question Number : 4 Question Id : 92090614179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-1 Ueg H HH-H1 THH W g3l 82
(1) 3fAdIYE (2) PHYRY
3) fa (@) dgeEy

Options :



92090656013. 1
92090656014. 2
92090656015. 3
92090656016. 4

Question Number : 5 Question Id : 92090614180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1y &= 2 fog

3) e (4) Slc
Options :

92090656017. 1
92090656018. 2
92090656019. 3
92090656020. 4

Sub-Section Number : 2
Sub-Section Id : 920906459
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090614181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUrdTae fA2I901 &1 §eld el IHu?

(1) faceh axgeli &1 afgsdRr & (2) d TR el Sdir?
(3) Urgl THSHE Al (4) DO THHMA T M3
Options :

92090656021. 1
92090656022. 2
92090656023. 3
92090656024. 4

Question Number : 6 Question Id : 92090614181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U faLN0 1 §eld I8l iHu?

(1) e axgsi &1 sfewpR #3| (2) 3 TN Pl e
(3) UTSIAABH A @l (4) DS AHGE o 33|
Options :

92090656021. 1
92090656022. 2
92090656023. 3
92090656024. 4

Question Number : 7 Question Id : 92090614182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fAdHl ¥ 99 @ § | 91 § Xgifed Us f6Y9 T3 & 9 &1 Sd s W@ &2

(1) SfdqaE® 2) e
(3) HEErES 4) ufHUEES
Options :

92090656025. 1
92090656026. 2
92090656027. 3
92090656028. 4

Question Number : 7 Question Id : 92090614182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fOdHl ¥ 9d @ § | 91 § YWifed Uss [ T3 & Je &1 3 W@ 87

(1) fdddra® 2) wfaarEs
(3) HEHEES (4) URHUEES
Options :

92090656025. 1
92090656026. 2
92090656027. 3
92090656028. 4

Question Number : 8 Question Id : 92090614183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 w1 faE Fifoe

| g -
(A) AR () TIeY TAN
(B) XMYA (y fegans
(C) UldnaR (ny  3fediyE HY
(D) TaUE (Iv) gdife Tad

412 feu e f9sedi # 9 9l IR &1 994 I

(M (A)-(), (B)-(IV), (O-(1), (D)-(l)
(2 (A=), B)-(1), (Q-(Iv), (D)-()
(3) (A=), (B)-(1V), (O)-(1), (D)-(1)
4 (A)-(V), (B)-(11), (O-(1), (D)-(ln)

Options :

92090656029. 1
92090656030. 2
92090656031. 3
92090656032. 4

Question Number : 8 Question Id : 92090614183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & 1y gt 1| &1 fieE Sifore

- -l
(A) AR () dgeY THY
(8) IGYA (ay feganAs
(C) UldnaR (I 3ty 9
(D) U8 (Iv) dgdife Iar
19 fau T fasedi d 8 9El IR &1 99 SifoT:
(1) (A)-(I1), (B)-(IV), (C)-(1), (D)-(111)

(3) (A, (B)-(IV), (©)-(D), (D)-()

)-(
(@) (A1), B)-(), (C)-(IV), (D)-()
)-(
4 (A)-(v), (B)-(I), (C)-(), (D)-(1)



Options :

92090656029. 1
92090656030. 2
92090656031. 3
92090656032. 4

Question Number : 9 Question Id : 92090614184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 1 faaE Sifse

Tl-| NEIEl

(A) 3MTeH (1) TGN JH
(B) cxHfad (1)  SEIHE JHY
© JYEg™ () Sgdile T
(D) <A (Iv) &g 9H™
19 fau U faseul # 9 gl IR 19U SIS
(1) (A)-(1), (B)-(I), (C)-(1V), (D)-(l11)
2 (A)-, EB} (1), (©)-(1V), (D)-(I)
(3) (A=), (B)-(), (O)-(IV), (D)-(1)
(@) (M-I, (B)-(1V), (O)-(1), (D)-(111)

Options :

92090656033. 1
92090656034. 2
92090656035. 3
92090656036. 4

Question Number : 9 Question Id : 92090614184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & a1y g 11 B fAeE S

- EEIST
(a) 34 (1) Ty gAY
(8) SHfE (1)  SfEdTHId JHE
(€ g@gw () dgdife gaTH
(D) S=MHA (V) &g 9H™
4 feu v flaseul © ¥ 98l 3O &1 994 S
(1) (A)-(1), (B)-(IN), (C)-(IV), (D)-(1NN)

(3) (A=), (B)-(n), (Q-(V), (D)-()

)-(
(2) (A=), (B)-(1). (O)-(IV), (D)-(ID)
)-(
@) (A, (B)-(IV), (Q-(), (D)-(I)

Options :

92090656033. 1
92090656034. 2
92090656035. 3
92090656036. 4

Question Number : 10 Question Id : 92090614185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 UTY 9§ S 9Tdd s BRI -
A, TfcHHE

B. U
C. ffeH
D. fourfa

e fea

12 fau e fasedl # 9 el 3T’ &1 994 SIfo
(1) dd A B

(2) &dd B, C

(3) dd B, D

(4) Hdd E

Options :
92090656037. 1



92090656038. 2
92090656039. 3
92090656040. 4

Question Number : 10 Question Id : 92090614185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3q UTY 9§ S 91d Ue BRI -
A, TIfaHH

B. S
C. ffeH
D. fuurfa

e fed
412 feu 1 fasedi @ | Jel IR &1 994 DI ;

(1) &dd A B
(2) Pdd B, C
(3) &dd B, D
(4) Hdd E

Options :

92090656037. 1
92090656038. 2
92090656039. 3
92090656040. 4

Question Number : 11 Question Id : 92090614186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe m=2, n=3AW12m*-3mn FTHAE:

(1 92 (2) 88
(3) 94 (4) 90
Options :

92090656041. 1
92090656042. 2
92090656043. 3



92090656044. 4

Question Number : 11 Question Id : 92090614186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe m=2, n=3d 12m*n-3mn* BIHAE

(1) 92 (2) 88
(3) 94 (4) 90
Options :

92090656041. 1
92090656042. 2
92090656043. 3
92090656044. 4

Question Number : 12 Question Id : 92090614187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁm#wmmm]ﬁwg W W @ bR IET sifd geg & 20% e
3R IY U sifdrd geu W &9 | = &1 @y ufawrd &1 82

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090656045. 1
92090656046. 2
92090656047. 3
92090656048. 4

Question Number : 12 Question Id : 92090614187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁmﬁwmmma@wg W R el R I oifd e #Y 20% o1 R
3fR 3 U sifdhd Hed U &9 fen| fean &1 @ ufa=rd @1 g2

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090656045. 1
92090656046. 2
92090656047. 3
92090656048. 4

Question Number : 13 Question Id : 92090614188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl Uy A OYT B UH el &l HH: 15 e aul 20 fiFe # WR 9l g1 SF1 usyl &1 U
T Wl T U] 4 ATe 91 Ugy A & §w &R f&a1 Tl &t &1 WRA # od a1 7y
e

(1) 14 fiAe 40 9ds 2) 12 f#e 30 Bbs
(3) 11 TPHe 45 §hE (4) 10 f8He 20 OFe
Options :

92090656049. 1
92090656050. 2
92090656051. 3
92090656052. 4

Question Number : 13 Question Id : 92090614188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl USY A dYT B U el &l HHI: 15 e aur 20 fiFe # WR 9l §1 aF1 uisyl &1 U
1Y Gl 71 W= 4 e 91 U5y A &1 d=< & {331 a1 78t 1 WA | $d faa1 971y
e

(1) 14T 40 9F3 2) 12 e 30 O3
3) 11 THAe 45 s (4) 10 f0FE 20 THs
Options :

92090656049. 1
92090656050. 2



92090656051. 3
92090656052. 4

Question Number : 14 Question Id : 92090614189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT & oiF 319 A1 foFB] YU HHDL: 3 cm, 4 cm TUT 5 cm &, &1 [Ugdl & TP gl 94
11 71| AU §U UHT & gET &thd &1 417 aUT - O & I & d | 941 34T 87

(n 2:1 @ 32
(3) 25:18 (4) 27:20
Options :

92090656053. 1
92090656054. 2
92090656055. 3
92090656056. 4

Question Number : 14 Question Id : 92090614189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & I 3 g oS! YO HH: 3 cm, 4 cm YT 5 cm §, &1 A R TH F21 T4
191 71| 3T gU U & gy &Fd &1 417 9T AT 99 & gEIg &% J 1 SN 82

(1) 2:1 (2 3:2
(3) 25:18 4) 27:20
Options :

92090656053. 1
92090656054. 2
92090656055. 3
92090656056. 4

Question Number : 15 Question Id : 92090614190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oid A % 65,000 BI AR BT 31 a1l & Faw far aur 2 a4 ugiq 7,275 & &6 J Uw

{3 | T H AURY TS 6% dIfte 9 &0 & aul JioHT 1| § dshdia ol 5% dift® od g
OIS | a1 dieT 11 H FafRa aRE! &1 sHuTd 91 S|

(1) 1:1 2) T1:b
(A) &:4 (4) 3:4
Options :

92090656057. 1
92090656058. 2
92090656059. 3
92090656060. 4

Question Number : 15 Question Id : 92090614190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A % 65,000 B AR 1 31 o1l & [ far aur 2 a9 uyiq 7,275 & 9 § Uw

fa | TS o WIURY TS 6% dlitd GR &0 § auT TorT 1| § dshdia &I 5% diftie < ¢
I | YT grer 1| H FafRa iR &1 sruTd F1d S|

(M ; il (2} TL6
(3) 5:4 4 3:4
Options :

92090656057. 1
92090656058. 2
92090656059. 3
92090656060. 4

Question Number : 16 Question Id : 92090614191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I 9l fdeed o, R Ra x &1 gl axar g :

(1) (2)

N

(3) (4)

Options :

92090656061. 1
92090656062. 2
92090656063. 3
92090656064. 4

Question Number : 16 Question Id : 92090614191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& 9 faeed g, RIMA A x S i Har g -

(1) (2)

(3) (4)

/




Options :

92090656061. 1
92090656062. 2
92090656063. 3
92090656064. 4

Question Number : 17 Question Id : 92090614192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

(1) 27 (2) o4
(3) 8 (4) 16
Options :

92090656065. 1
92090656066. 2
92090656067. 3
92090656068. 4

Question Number : 17 Question Id : 92090614192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

5 5 N § (2) o4
3) 8 (4) 16
Options :

92090656065. 1
92090656066. 2
92090656067. 3
92090656068. 4

Question Number : 18 Question Id : 92090614193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 7S 4T 12, 30, 120, 460, 1368, 2730 F XY HHT 16, (A), (B), (C), (D), (E) TafHd B
dd 91d BIfot fob D & WA W S ufawifig grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090656069. 1
92090656070. 2
92090656071. 3
92090656072. 4

Question Number : 18 Question Id : 92090614193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 715 @ 12, 30, 120, 460, 1368, 2730 P SEY 4Gl 16, (A), (B), (C), (D), (F) ARG B
4 Id Bifelt f D & RIF W H14 Hiawifia grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090656069. 1
92090656070. 2
92090656071. 3
92090656072. 4

Question Number : 19 Question Id : 92090614194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 feg U wsdt & e g & o o ey B, 7€ gHE Tey g o g | & g
o= Mg : Mifd Areg

(1) IYEdr: Ared (2) Hdg®d : 99
3) g . aes 4) e Tmemen
Options :

92090656073. 1
92090656074. 2
92090656075. 3
92090656076. 4



Question Number : 19 Question Id : 92090614194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 f3u U wreal & Hel g & o ol daY g, 91 GAH Hay AU e g | 4 g
&g et ; Mifd Areg

(1)  fEdr: Jee (2) YHdlg® :€H
3) s ares (4) famfar: S
Options :

92090656073. 1
92090656074. 2
92090656075. 3
92090656076. 4

Question Number : 20 Question Id : 92090614195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd
3) JTW (4) afémo-uigy
Options :

92090656077. 1
92090656078. 2
92090656079. 3
92090656080. 4

Question Number : 20 Question Id : 92090614195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd

B) TW (4) afémo-uigy

Options :



92090656077. 1
92090656078. 2
92090656079. 3
92090656080. 4

Question Number : 21 Question Id : 92090614196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE B YR IR féad HA Sl 3 |
(1) 8 3f (2) 8 Ryamr

(3) 83 (4) 8AdraER
Options :

92090656081. 1
92090656082. 2
92090656083. 3
92090656084. 4

Question Number : 21 Question Id : 92090614196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE 1 YR AT fead HA Sl 3 |
(1) 8RN 2) 8RR

(3) 83T @) 8RR
Options :

92090656081. 1
92090656082. 2
92090656083. 3
92090656084. 4

Question Number : 22 Question Id : 92090614197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090656085. 1
92090656086. 2
92090656087. 3
92090656088. 4

Question Number : 22 Question Id : 92090614197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090656085. 1
92090656086. 2
92090656087. 3
92090656088. 4

Question Number : 23 Question Id : 92090614198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ST B YR 359 $1 RRAR OieE1 82

(1) FAleH (2) dREArg
(3) Y uH (4) AT
Options :

92090656089. 1
92090656090. 2
92090656091. 3
92090656092. 4

Question Number : 23 Question Id : 92090614198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT ST B YR 35g $1 RRAR OieA1 87

(1) HAle®d (2) dREArg
(3) Y W (4) AT
Options :

92090656089. 1
92090656090. 2
92090656091. 3
92090656092. 4

Question Number : 24 Question Id : 92090614199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A FyERTMUE:
FYT| : BRURE B (¢dH) Uh AU B 8, ofl DA & arHiY IR IeTl &l g1 98
Uoligpd =i SR Ff iR @r) faran s g1

HU Il : T =TS 3R YT (Goll 1l & SIS o I Ugd & o1y R gRebierd i i g1
IRl Y= & 3feid H, i AT 17U faseal # 4 ¥gl S 9a4 difo

(1) YIRS TT &

(2) YR IEH T ©

(3) ®YF| A g, Alpd YA 1| A 8
(4) HYTI TG B, Afbd FYT 1 TA 8

Options :

92090656093. 1
92090656094. 2
92090656095. 3
92090656096. 4

Question Number : 24 Question Id : 92090614199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FERumE:

FYT| : DRURE B (cad) TP HUTS BT ¢, Gl A & ATHY W Iel ordl g1 98
Ueiigrd St TR FRTHT OR @ fovan i g

HUF Il : g TG R T (Yol H=lT) & HIe o4 4§ Ugdl & a1 IR gRapferd b oiran g1
IR YA & 3fTdes |, IF {3 U fasedl 7 4 ¥el I 904 Hife

(1) FYHISRISH TIE

(2) YT SRISH T §

(3) YT TG B, AFT HYA 11 ST 8§
(4) HYTI AT T, AP FYT 1 A8

Options :

92090656093. 1
92090656094. 2
92090656095. 3
92090656096. 4

Question Number : 25 Question Id : 92090614200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 &1 faE Fifoe

- -l
el Ud ABR TH
(A) TSI gaal () &d
®) fag () HAeH
(€ YTME (ny fewre™ udw
(D) T (v) Sfifgam

= fau v fasedi ¥ 9§ 9 IR &1 994 DI

(1) (A)-(1), (B)-(1), (C)-(1V), (D)-(I)
(2) (A=), (B)-(1), (O)-(IV), (D)-(I)
(3)  (A)-(V), (B)-(I1), (C)-(1), (D)-(D)
(4 (A)-(), B)-(IV), (O)-(1), (D)-(IN)
Options :

92090656097. 1

92090656098. 2
92090656099. 3



92090656100. 4

Question Number : 25 Question Id : 92090614200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1| &1 faeE Sifore

- -l
Ad Ud dER T
(A) ST el () &
®) fag )y HAleE
(© IYTE (ny  fewTea uew
(D) Jlid (v) ffgan
1 fau U fasmedl # O HEl SR &1 994 Sife:
(1) (A)-(1), (B)-(11), (C)-(IV), (D)-(11)

)-(
(2) (A=), (B)-(1), (O)-(1V). (D)-(1N)
(3)  (A)-(V), (B)-(I1), (C)-(1), (D)-(1)
(4 (A)-(), (B)-(IV), (O)-(1), (D)-(I)

Options :

92090656097. 1
92090656098. 2
92090656099. 3
92090656100. 4

Part B: Textile Engineering

Section Id : 920906282
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906460

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 92090614201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acrylonitril content in the modacryue fibre forming polymer is:

(1 85-95% (2) 40-80%
(3) 10 - 30% (4) 25-85%
Options :

92090656101. 1
92090656102. 2
92090656103. 3
92090656104. 4

Question Number : 26 Question Id : 92090614201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uleli R (d@geie) S11 arel Arstfsbferss dg @ Uibalsica i Amm i &

(1) 85 -95% (2) 40-80%
(3) 10 - 30% (4) 25-85%
Options :

92090656101. 1
92090656102. 2
92090656103. 3
92090656104. 4

Question Number : 27 Question Id : 92090614202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spin drawing is used generally to produce tyre cord grade filament yarn. In this process

(1)  spinning and drawing are carried out in a singlestep
(2)  melt spinning is done at hyber speed followed by drawing at lower speed
(3)  melt spinning is done at lower speed followed by drawing at higher speed

(4)  spinning are drawing speeds differ based on the required draw ratio



Options :

92090656105. 1
92090656106. 2
92090656107. 3
92090656108. 4

Question Number : 27 Question Id : 92090614202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U1 1S9 &1 IUTRT UK TRR Sis Avft & o i B - & fore fovan Siran g | 39 ufehan &

(1) TR (@arg) SR SR (@Hon) Ueh & =R H fBU =1 |

(2) A T F) IR A A g1 A 8 SR IS 918 SR HH M J B A B |
@) e RET SH IR A # S @ IR I w12 SR TR M A F o |

(4) TR SR g Y e difsa g1 3@ (B sruTa) & SFER R it E |

Options :

92090656105. 1
92090656106. 2
92090656107. 3
92090656108. 4

Question Number : 28 Question Id : 92090614203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The quantity of water (by weight) in dried PET (polyethelenetetrophthatate) chips suitable
for melt spinning is in the range of :

(1)  0.001% to 0.005% (2) 0.4% to 0.5%
(3) 02%to0.3% (4) approximaty 1.0%
Options :

92090656109. 1
92090656110. 2
92090656111. 3
92090656112. 4

Question Number : 28 Question Id : 92090614203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

giepd Tiferefded e (PeT) e # A R & fou 3ugad oid &1 #4E1 (WRIHER)

P WHALK e
(1) 0.001% to 0.005% (2) 0.4% to 0.5%
3) 0.2%t00.3% 4) 311.0%

Options :

92090656109. 1
92090656110. 2
92090656111. 3
92090656112. 4

Question Number : 29 Question Id : 92090614204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

High performance fibre, having very different morphology can be used in bullet proof

fabric, is:

(1) PAN (2) HDPE

(3) LLDPE (4 UHMWHDPE
Options :

92090656113. 1
92090656114. 2
92090656115. 3
92090656116. 4

Question Number : 29 Question Id : 92090614204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I [91EA X ( 81 WBH-g Biear) e 9gd i SR &1 gl 8, &1 39di Jaey®
T T 7 fPa s 9ar g, a8 & -

(1) PAN (2) HDPE
(3) LLDPE 4) UHMWHDPE
Options :

92090656113. 1
92090656114. 2
92090656115. 3



92090656116. 4

Question Number : 30 Question Id : 92090614205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glass transition temparature Tg(0°C), of poly lethylenetercphthalal is:

(1) 87 2) 50
(3) 69 (4) 100
Options :

92090656117. 1
92090656118. 2
92090656119. 3
92090656120. 4

Question Number : 30 Question Id : 92090614205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

glell (RueiF) e &1 Hid HehTH! (/™ eieieF) draHH (Tg(0°C)) & :

(1) 87 (2) 50
(3) B9 (4) 100
Options :

92090656117. 1
92090656118. 2
92090656119. 3
92090656120. 4

Question Number : 31 Question Id : 92090614206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Ideal spin finish composition, major ingredients are:

(1) Lubricant, anlistable agant and emulsifier
(2) Lubricant, softener and emulsifier
(3) Antimicrobial agent, lubricant and emulsifier

(4) Sizing agent, softener and emulsifier

Options :

92090656121. 1
92090656122. 2
92090656123. 3
92090656124. 4

Question Number : 31 Question Id : 92090614206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3iee o fipfer waeH & e 9ued @

(1) T elid< [@ed), (Lrefed Tu< Uiaidd Hiid) SR SHATHIR GHETORD)
2) deide, WheR (HgHRI) R AN B

(3) UHISHIEgd Tol (Yersiariel HHeb), delld< 3R sHed! BRR

(4) i Toe (RaduH &), Hde-R SR SHE B

Options :

92090656121. 1
92090656122. 2
92090656123. 3
92090656124. 4

Question Number : 32 Question Id : 92090614207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Zioglar natta catalyst is used in the polymerisation of:

(1) NYLON 6 (2} PET
(3)  Acetate (4) polypropylene
Options :

92090656125. 1
92090656126. 2



92090656127. 3
92090656128. 4

Question Number : 32 Question Id : 92090614207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

XNTER 21 IR &1 IWN & qgaa! B v § a1 s @

(1) SIEGIGES 2) PET
(3) TTHiee (4) Ureivfoe=
Options :

92090656125. 1
92090656126. 2
92090656127. 3
92090656128. 4

Question Number : 33 Question Id : 92090614208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fibe that will float in water is:

(1) NYLON 6.6 (2) Cellulosic fibre box
(3) Tencel (4) Polypropylene
Options :

92090656129. 1
92090656130. 2
92090656131. 3
92090656132. 4

Question Number : 33 Question Id : 92090614208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W/ PRR G od H§ didl 6, 96 6 ;
(1) AI3dH6.6 2) YR ¥ (BIIR)
(3) 94 (4) Uretoie

Options :



92090656129. 1
92090656130. 2
92090656131. 3
92090656132. 4

Question Number : 34 Question Id : 92090614209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The natural polyamide fibres among the following is:

(1) cotton (2) jute
(3)  wool (4) flax
Options :

92090656133. 1
92090656134. 2
92090656135. 3
92090656136. 4

Question Number : 34 Question Id : 92090614209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaied & 4 wiefas didiuass BEeel 8

(1) e (§d) 2 ¥

3 A 4) TR ()
Options :

92090656133. 1
92090656134. 2
92090656135. 3
92090656136. 4

Question Number : 35 Question Id : 92090614210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the raw materials for manufacturing of NYLON 6.6

(1) hexamethlyene diamine and adipic acid
(2)  terephthalic acid and ethylene glycol
(3) hexamethlyene diamin and ethylene glycol

(4)  caprolactum and methylethyle glycol

Options :

92090656137. 1
92090656138. 2
92090656139. 3
92090656140. 4

Question Number : 35 Question Id : 92090614210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 6.6 &1 Ffifa 33 & 1w 37 srafvsya il &1 9 g Sran @

(1)  ToamydH SRuHH R udifts e
(2 Yo 0SS SR o
(3) MR SEUHA 3R uiieH WEda
(4)  HUgeH AR MYEd 3USd dsHid
Options :
92090656137. 1
92090656138. 2

92090656139. 3
92090656140. 4

Question Number : 36 Question Id : 92090614211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mumber of fibers in cross section are more in case of:

(1) cotton (2) silver
(3) roving (4) wyarn
Options :

92090656141. 1
92090656142. 2



92090656143. 3
92090656144. 4

Question Number : 36 Question Id : 92090614211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B GBI U IRy (HIEdaR) # i gt @

(1) ®led TUe (HUN D) ) RRaaR @
(3) ST (3mHEE) @) I (JF/4Tm
Options :

92090656141. 1
92090656142. 2
92090656143. 3
92090656144. 4

Question Number : 37 Question Id : 92090614212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the same count and row the rotor spun yarns are bulkier than ring spun yarns

because:

(1)  strength of rotor yarns is higer than ring spun yarn
(2)  novel tube pools off fibers from rotor spun yarn
(3)  no of belts are higher in case of rotor yarn

(4)  yarn tansion in rotor spun yarn is lower as compared to ring spun yarn.

Options :

92090656145. 1
92090656146. 2
92090656147. 3
92090656148. 4

Question Number : 37 Question Id : 92090614212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UM HI3< AR HUNHd Gl & forg Aex w4 @ favw o) g (33 fo1 ' (@og,afda)
g (@) ¥ 1% R@ g1 8, i

(1) A THE # I T A g @ s g R

2 IRTWIIE AT P daad e

3) R T S uma § e Y g 3t el |

(4) AR WA GHE H G eRA (@3 714 ) R 9 g @ qa A sH e 8 |

Options :

92090656145. 1
92090656146. 2
92090656147. 3
92090656148. 4

Question Number : 38 Question Id : 92090614213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fibers migration is highest in case of following spinning technology, for given count of
yarn :

(1) ring frame (2) DRET-II
(3) MJS (4) SIRO
Options :

92090656149. 1
92090656150. 2
92090656151. 3
92090656152. 4

Question Number : 38 Question Id : 92090614213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g (/) & QU T $18< & [ B ARy (G ®FEA) _ $ Amd |
3ifereaH g &

(1) ring frame (2) DRET-lII H
(3) MIS (4) SIRO
Options :

92090656149. 1



92090656150. 2
92090656151. 3
92090656152. 4

Question Number : 39 Question Id : 92090614214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Test is used for assessment/evaluation of performance of auto leveller on draw frame:

(1 A% 2y C%
(3) VI% (4 T%
Options :

92090656153. 1
92090656154. 2
92090656155. 3
92090656156. 4

Question Number : 39 Question Id : 92090614214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 1 (@Y1 ThH) TR HicTdder & UasH & Mba-/edid & fad _ gf¥er &1 39am
[P g :

(1 A% (2) C%
(3) Vi% 4) T%
Options :

92090656153. 1
92090656154. 2
92090656155. 3
92090656156. 4

Question Number : 40 Question Id : 92090614215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The angle subtended by the circular half lap is 75° and the time taken by the half lap to
the fringe is 0.05 sec. The approxirate nips /min of the comber would be:

(1)) 375 (2) 250
3y 170 (4) 450
Options :

92090656157. 1
92090656158. 2
92090656159. 3
92090656160. 4

Question Number : 40 Question Id : 92090614215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Blead (314 Bl SRT Hefidid HI0 75° 8| 1% o9 SR Ths (FTeR) & Flgd (@1d
0T) T fordn 71 99 0.05 WS 8 | BIER & nips /min TIHT ER1 :

(1) 375 (2) 250
(3) 170 (4) 450
Options :

92090656157. 1
92090656158. 2
92090656159. 3
92090656160. 4

Question Number : 41 Question Id : 92090614216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approximate beats /inch or a beater working with following parameter beats rpm = 800
number of strickes = 20 feed roller rpm 25 diameter of feed roller = 4"

(1 51 (2) 45
(3) 61 4) 21
Options :

92090656161. 1
92090656162. 2
92090656163. 3



92090656164. 4

Question Number : 41 Question Id : 92090614216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofifaa el & W1y S HA drd S & die (fawe) 8 ;
afe rpm =800 EITHH BI HB = 20 BIS AR rpm = 25 HIS AR BI ATY = 4”

(1) 51 (2) 45
(3) 61 4) 21
Options :

92090656161. 1
92090656162. 2
92090656163. 3
92090656164. 4

Question Number : 42 Question Id : 92090614217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cleaning of blow room machine if the waste in the raw material is 6%, waste in the
sliver at carding machine is 0.4% and carding machine cleaning efficiency is 75%, is:

(1) 60.5% (2) 73.33%
(3) 81% (4) 70.50%
Options :

92090656165. 1
92090656166. 2
92090656167. 3
92090656168. 4

Question Number : 42 Question Id : 92090614217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U <A1 (YH) $& Afea 31 TBTs H 811 ad T &1 fda Hifere fe saivepd areedt o

U 6% HIFST A=A B A Sard 75% 8 -

(1) 60.5% (2) 73.33%

(3) 81% (4) 70.50%
Options :

92090656165. 1
92090656166. 2
92090656167. 3
92090656168. 4

Question Number : 43 Question Id : 92090614218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yarn tension during unwinding from COP is:

(1)  high at full cop and low at empty COP

(2)  consant irrespective of stage of unwinding

(3)  low at full COP and high at empty COP.

(4)  highest at the beginning decreases gradually and rises again.
Options :
92090656169. 1
92090656170. 2

92090656171. 3
92090656172. 4

Question Number : 43 Question Id : 92090614218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘cop’' ¥ WA GG IH A 811 8 :

(1)  RHIY(COP) W & R Flell COP W HH

(2) WA & 9RO Y AYHIad gidT & SR RR Ear g

(3) RBIYR BH AR Glell HY W 342 giedt &

(4) Y H I il g, F il ¥4 I &3 il 8 3R iR 9¢ oI § |

Options :
92090656169. 1



92090656170. 2
92090656171. 3
92090656172. 4

Question Number : 44 Question Id : 92090614219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The technology used to produce S and Z twist in the same yarn is:

(1) rotor spinning (2) MIS spinning
(3)  wrap spinning (4) self twist spinning
Options :

92090656173. 1
92090656174. 2
92090656175. 3
92090656176. 4

Question Number : 44 Question Id : 92090614219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% € O (o) s 3R 2 Rawe o) Pfifa 733 & g Sudr 3t o et wehfiet @

(1 e i (ol wars) 2) Ms Tl @as)
3) U @va sdm) (4) o e i aus &)
Options :

92090656173. 1
92090656174. 2
92090656175. 3
92090656176. 4

Question Number : 45 Question Id : 92090614220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wire point shows intensive opening in blow room line

(1) saw tooth (2) bladed type
(3) pintype (4) spike type



Options :

92090656177. 1
92090656178. 2
92090656179. 3
92090656180. 4

Question Number : 45 Question Id : 92090614220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ 9MR [@R) Ui al (YHE) B4 A8 H T8 xR (Sei-ud il & e g

(1) 3RIEd! (2) ®ies UPR
3) fUAUsR (4) TEH,/H0L UHR
Options :

92090656177. 1
92090656178. 2
92090656179. 3
92090656180. 4

Question Number : 46 Question Id : 92090614221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In welt knitted fabrics of the same mass pm unit area produced from the same count the
structure which will give highest thikness is:

(1 Plain (2) Rib (IXD
(3) Pure and Tricot (4) Interlook
Options :

92090656181. 1
92090656182. 2
92090656183. 3
92090656184. 4

Question Number : 46 Question Id : 92090614221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YU FHAF Ul SH1S AF%d did 3 §4 a%d o] THM $13< J 11 11 7, &
S19d Tad 3 HIeTS UoH U1, |

(1) @/ el ) omEi/RE 1x)
(3) uUdUtacEDrE 4) el
Options :

92090656181. 1
92090656182. 2
92090656183. 3
92090656184. 4

Question Number : 47 Question Id : 92090614222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following type of weave shows maximum tearing strength,

(1 Satin (2) Basket
(3) Brocken twill (4) Mat weave
Options :

92090656185. 1
92090656186. 2
92090656187. 3
92090656188. 4

Question Number : 47 Question Id : 92090614222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefed UeR &1 15 a9 ffte AR amyd (i ®=) e e §

(1) ¥eA (2) €E’Pe
(3) st @f3a) feaa 4) ATTH
Options :

92090656185. 1
92090656186. 2
92090656187. 3
92090656188. 4



Question Number : 48 Question Id : 92090614223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ball warping is mainly used in the manufacturing of.

(1) Terry towels (2) Marrow fabrics
(3) Shed MNets (4) Denim fabrics
Options :

92090656189. 1
92090656190. 2
92090656191. 3
92090656192. 4

Question Number : 48 Question Id : 92090614223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) 8 eRe @ (2) daif g @R )
3) WS A (4) SHHTHE
Options :

92090656189. 1
92090656190. 2
92090656191. 3
92090656192. 4

Question Number : 49 Question Id : 92090614224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Torque required to twist the torsion rod in case of project a weaving is not depend on

(1) Diameter of rod (2) Length of rod
(3)  Mass of projectile (4) length of projectile filter
Options :

92090656193. 1
92090656194. 2
92090656195. 3



92090656196. 4

Question Number : 49 Question Id : 92090614224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁﬂéﬁﬂmﬁm@éﬁaﬁm@%ﬁﬂw%mwwaHW{%wﬁ
Pddl B :

(1) TSRISHFAEW (2) BSRIS B darg W
(3) VU&™ FH ggHH (4) e ftheex &I aETs
Options :

92090656193. 1
92090656194. 2
92090656195. 3
92090656196. 4

Question Number : 50 Question Id : 92090614225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Limiting oxygen inde (LOI) is determined the efficieny of:

(1)  W-n-W finishing (2) Water proofing
(3) Flame retardent finishing (4) Crease reshtant finishing
Options :

92090656197. 1
92090656198. 2
92090656199. 3
92090656200. 4

Question Number : 50 Question Id : 92090614225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



diard e Yadie (e siaieq S8a; (Lol &1 AuRu___ &1 gafar & udieon
& feru o wiran g1

(1) w-n-w AR (ufvas (2) SIERIEA
(3)  drar Hed fhAfRm (4) hia et fopAfRE
Options :

92090656197. 1
92090656198. 2
92090656199. 3
92090656200. 4

Question Number : 51 Question Id : 92090614226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cotton can be made water repellent by using

(1) Silicon finish (2) A nionue softner
(3)  Rot proofing agent (4) Reactive softner
Options :

92090656201. 1
92090656202. 2
92090656203. 3
92090656204. 4

Question Number : 51 Question Id : 92090614226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PUH D] & IUGN gRI o UfdpSl a1 &l Sl & -

(1) Tuferea fef=r afasm) (2) YU HgRl ([@RR)
(3) e g (9 "enH) $HE (4) Topumia gl (Rufdhed HieR)
Options :

92090656201. 1
92090656202. 2
92090656203. 3
92090656204. 4



Question Number : 52 Question Id : 92090614227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most productive method for textile printing is

(1)  Rotary screen printing (2) Automatic Hat-bed printing
(3) Block Printing (4) Roller Printing
Options :

92090656205. 1
92090656206. 2
92090656207. 3
92090656208. 4

Question Number : 52 Question Id : 92090614227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T B BUTS P o0 a9 IJdGH (Y8

(1) e woH Tfdnaml strorgurs (2)  sifeifes wie 98 fiifés (Rifte aa 8urs)
3) s e @ BurE) (4) IeR fifET @ aurd)

Options :

92090656205. 1
92090656206. 2
92090656207. 3
92090656208. 4

Question Number : 53 Question Id : 92090614228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polymer content of typical blender used in pigment printing on textile substrate

(1 35-38% (2) 20-22%
(3) 10-15% 4y 4-7%
Options :

92090656209. 1
92090656210. 2
92090656211. 3



92090656212. 4

Question Number : 53 Question Id : 92090614228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ fohaIR (Wawe) W e &UTs U IudN fGuaH ard URelis diue @5er) § agad
b1 HIE Bl 8

(M 35-38% (2) 20-22%
(3) 10-15% 4 4-7%
Options :

92090656209. 1
92090656210. 2
92090656211. 3
92090656212. 4

Question Number : 54 Question Id : 92090614229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jet dyeing machines are use for dying

(1) Coated Fabric (2) Bonded Fabric
(3) Knitted Fabric (4) Woven Fabric
Options :

92090656213. 1
92090656214. 2
92090656215. 3
92090656216. 4

Question Number : 54 Question Id : 92090614229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e SR (T 1) HLAHT &1 IugRT 1 Mg & o fvan oiran @

(1)  ftd @es) 39 (2) SEd @es) 3%
3) 1 (Afgs) gu AT 4) €1 @&E9) I

Options :



92090656213. 1
92090656214. 2
92090656215. 3
92090656216. 4

Question Number : 55 Question Id : 92090614230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kulbelka—Munk equation, used in colour measurement, is

(1) k/s = (1-R)?
2R

(2) k/s = (1-R)*
R

(3) k/s = (1-2 R)*
2R

(4) K/S = (1-R)*
R

Options :

92090656217. 1
92090656218. 2
92090656219. 3
92090656220. 4

Question Number : 55 Question Id : 92090614230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T $ AU & folT IUTRT Bt &1 a6l Siehl-Hob HIB ¢ :

(1) k/s=(1-R) 2
2R

(2) k/s = (1-R) ¥2
R

3) kis=(1-2R} ¥
2R

(4) K/S=(1-R) ¥
R

Options :



92090656217. 1
92090656218. 2
92090656219. 3
92090656220. 4

Question Number : 56 Question Id : 92090614231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Despite weak-dye fiber lateraction vat-dyes shows extreamly good work fastners on
cotton cellulene is because of :

(1)  water inscunbity of dye and dye aggregation
(2)  high dyeing tempertative
(3)  high dye solubility in water (4) low moleculer weight of dye

Options :

92090656221. 1
92090656222. 2
92090656223. 3
92090656224. 4

Question Number : 56 Question Id : 92090614231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prde-¥oe (S1) dige A RERPA & aEg, 3¢ W gas g R Ydl Agad I
AMEE Uah1 T qRIe § Bl

(1) TP 3R I YA od 7 YT a el &
(2) 39 a9 39 Bl §

(3) Od ¥ {6 & 3= [paddl gld &

(4) I BT HUMR HH Bidl &

Options :

92090656221. 1
92090656222. 2
92090656223. 3
92090656224. 4

Question Number : 57 Question Id : 92090614232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Absorphen of light in UV region and reflection of light in visible region is the
phenomenon associated with:

(1) Vat Dyes

(2)  Disperse dyes with coloured ctromophore
(3)  Optical brighting agent

(4)  Bluring Agent

Options :

92090656225. 1
92090656226. 2
92090656227. 3
92090656228. 4

Question Number : 57 Question Id : 92090614232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UV &7 § BT T I 3R T &9 H UHI &1 Wda- __ J dg gREe1 8 :
(1) dE-P
(2) A SHHEI%R gad i ow
(3)  UHIRS UHARH HHP (3fMPFd 51 Tore)
4) e $HE (sEUU)

Options :

92090656225. 1
92090656226. 2
92090656227. 3
92090656228. 4

Question Number : 58 Question Id : 92090614233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Deconvolution lount is a measure of

(1) Extent of Bleaching (2) Extent of Desizing

(3) Mercenzahan efficiency (4) Efficiency of Scoring



Options :

92090656229. 1
92090656230. 2
92090656231. 3
92090656232. 4

Question Number : 58 Question Id : 92090614233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feRiae (Sid-dIegx) HT3< A & :
(1) Ao (st &t /e () fafesuE @il o aE)
(3)  HHABUI (Mercerization/TESLH) (4) SHHHTSH (THISNAT) @l

Options :

92090656229. 1
92090656230. 2
92090656231. 3
92090656232. 4

Question Number : 59 Question Id : 92090614234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cellulose is used for:

(1) whitening of cotton fabric
(2) Reducing surface —--—----- of the wash ligner
(3)  Bio-polishing of cotton fabare

(4)  Remomy protenious impurities during Scoring

Options :

92090656233. 1
92090656234. 2
92090656235. 3
92090656236. 4

Question Number : 59 Question Id : 92090614234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YAy P IULNT fbdT S & -

(1) Yol 9% & Ydeiidrol & e

(2)  YrdH %d @1 feidho & 98 a1d B HH HA & AU
(3) Yol 9% P o - Ul

(4)  SMHSH & GHY UIEHl STl B g% HA & for

Options :

92090656233. 1
92090656234. 2
92090656235. 3
92090656236. 4

Question Number : 60 Question Id : 92090614235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Classimat fault which has the highest probability of musing an end break during further
process is :

(1) D2 2) G
3) 12 4 A2
Options :

92090656237. 1
92090656238. 2
92090656239. 3
92090656240. 4

Question Number : 60 Question Id : 92090614235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FARIHE Wice oS! AT &1 Ufhal § U8 9 B &1 a4 34t UliedwayaHeE gidi g,
deR:

(1) D2 (2) G
(3) 12 4) A2
Options :

92090656237. 1
92090656238. 2



92090656239. 3
92090656240. 4

Question Number : 61 Question Id : 92090614236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fabric drapp is influenced by its

(1)  Bonding rigidity (2) Tansile strength

(3) elongation at break (4) Busting strenght
Options :

92090656241. 1
92090656242. 2
92090656243. 3
92090656244. 4

Question Number : 61 Question Id : 92090614236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i Ju/a% faare gdite uHifad grare, s -

(1) &4 Tgal @Ffen Rfsfed) @ (2) T UG @3 W)
(3) §% & guy ddffeeu (4) UEHle Uadar @R ©/) @

Options :

92090656241. 1
92090656242. 2
92090656243. 3
92090656244. 4

Question Number : 62 Question Id : 92090614237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Capacity of tearing strength tester is determind by:

(1) Weight of Pendulum (2) length of shaft
(3) Speed of jaw (4) Distance both the Jaw

Options :



92090656245. 1
92090656246. 2
92090656247. 3
92090656248. 4

Question Number : 62 Question Id : 92090614237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faeR Uaad/feafr R e &t ammar &1 AuRo ANIERIEIGIE

(1) UZdH HTHR (2) XU B ddls
(3) il &t A 4) STFHdTd g
Options :

92090656245. 1
92090656246. 2
92090656247. 3
92090656248. 4

Question Number : 63 Question Id : 92090614238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The approximate english and worsted counts of latic yarn are:

(1) 60 and 89 (2) 50and 89
(3) 40 and 60 (4) 30and 89
Options :

92090656249. 1
92090656250. 2
92090656251. 3
92090656252. 4

Question Number : 63 Question Id : 92090614238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eI F IR M IS IRITAHT e

(1) 603fR 89 (2) 503fR89
(3) 403R 60 (4) 30 37X 89
Options :

92090656249. 1
92090656250. 2
92090656251. 3
92090656252. 4

Question Number : 64 Question Id : 92090614239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit of (CSP) of give yarn sample is

(1) gm/device (2) N/mm2
(3) CN/tax (4) strength of yarn in pound X count
Options :

92090656253. 1
92090656254. 2
92090656255. 3
92090656256. 4

Question Number : 64 Question Id : 92090614239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faadt 2w 1o g S & cspr F 3HTS 2

(1) gm/fsagd ) N/mm2
(3) CN/e (4) T B Urds § 9AY x BIIT
Options :

92090656253. 1
92090656254. 2
92090656255. 3
92090656256. 4



Question Number : 65 Question Id : 92090614240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Moisture regain % of cotton which has 7% moisture cortent will be

1 a5 2 7.0
(3) T 4) 9.0
Options :

92090656257. 1
92090656258. 2
92090656259. 3
92090656260. 4

Question Number : 65 Question Id : 92090614240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7% HTgdl & HEAT dId HUH/Hd &1 Sfadl YA Hi<rd 81 :

(1) 65 2y 70
(3) 1.5 (4) 9.0s
Options :

92090656257. 1
92090656258. 2
92090656259. 3
92090656260. 4

Question Number : 66 Question Id : 92090614241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A. and the other is labelled
as Reason (R).

Assertion A. : In case of dyeing of cotton with reacitve dyes formahen of hydrolyzed
dye is no major problem

Reasons (R) : In an alkaline medium, the reactive dye reacts with the hydroxyl groups
(-OH) irrespective of whether there are from cellulose or water

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A. and (R) are correct and (R) is the correct explanation of A.
(2) Both A. and (R) are correct but (R) is NOT the correct explanation of A.
{3) A. is correct but (R) is not correct

(4) A. is not correct but (R) is correct

Options :

92090656261. 1
92090656262. 2
92090656263. 3
92090656264. 4

Question Number : 66 Question Id : 92090614241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 31 YA 3T T § TP HUHYT (Assertion A) B ®U  H fafad § df U0 39D HRU
(Reason R}ﬁim fl%

AMHPYTA : HUHAD &1 fHfEaRid TH! § T R Jdsmufcd Wd $1 9941 Uh
ST R |

PHRUIR &Ry oy ¥, sfifdareiia s grgsiiddd 9ggl (-oH) ¥ siftfehar s
2 918 9¢ Jqay & € 3dl 5d & g

SRR HY & 3fdiew H, i AU T fab el 7 3 I8 Iugad I &1 99 Difelw

(1) A 3R RTH Ugl § 3R R, A Bl He! AR &
2) A3RREE WE T ABAR A PGS BN A B
(3) ATEE AfPTR U TS
(4) ATSTEIE AlFTRUER
Options :
92090656261. 1
92090656262. 2

92090656263. 3
92090656264. 4

Question Number : 67 Question Id : 92090614242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One is labelled as Assertion A. and the other is labelled
as Reason (R).

Assertion A. : Polyster fibers shows poor dye holding cupurity than nylon is given
process puranetus

Reasons (R) : Polyster has more no of carboxylic groups in the polymeric chain than
nylon which facilitate the better dye holding capacity

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both A. and (R) are true and (R) is the correct explanation of A,
(2) Both A. and (R) are true but (R) is NOT the correct explanation of A.
(3) A. is true but (R) is false
(4) A. is false but (R) is true
Options :



92090656265. 1
92090656266. 2
92090656267. 3
92090656268. 4

Question Number : 67 Question Id : 92090614242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 31 YA AU U § TP HUHYA (Assertion A) B ®U  H faf@d § O U IS BRU
(Reason R;ﬁsmﬁ%:

AHHRYT A - U U Uhd Urdl & U giditeey BIgaR A 1 AUl $H I9dh YRl
& WeRfd A B |

HRUIR : Uleiiuee’ & A15aH & a1 § dgad! Y@l (Ui o) I aiiepiis
gl @1 @A A4S il 8, Sl dgar Iad RO &Hdl &1 T S1dl &

SURIR HYA & 3fTadiew H, i AU 7 fawetl 7 9 el Iugad I 1 99 Difelt

(1)  ASRREHIHEl g SRR, A DI Hgl RSN §

2) A SRREHI 96l 8, Al R, A DI Hel A 781 &
(3) AUEE AFTIRIAA TR

(4) AUEITEE, APTRTE

Options :

92090656265. 1
92090656266. 2
92090656267. 3
92090656268. 4

Question Number : 68 Question Id : 92090614243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A. and the other is labelled
as Reason (R).

Assertion A. : In Case of manufactured fiber spinning a cirulor spinnaret orifice always
results in circular cross section of pigments in melt spinning but it is not
true in case of dye spinning.

Reasons (R) : melt spinning involves only heat transter whereas dye spinning involves
to be heat and muss transter

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A. and (R) are true and (R) is the correct explanation of A.

(2) Both A. and (R) are true but (R) is NOT the correct explanation of A.
(3) A is true but (R) is false

(4) A. is false but (R) is true

Options :

92090656269. 1
92090656270. 2
92090656271. 3
92090656272. 4

Question Number : 68 Question Id : 92090614243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e €1 Py fau MU § UH SfiHUA (Assertion A) F T H falad § o IR 39D HRUI
(Reason R}%Wﬂ%:

HUPYTA : Aghas BIER T & 7w 7 Ma e sifiwRy 4 A R
dqail o1 A I VI (IR $3) Wl Bl ¢ b1 s et o
TR B |

HRUIR: Tee f@fn & b S AR Safd 86 R # 391 Sik gamH
RYFIR0 AT 81 B |

IR HYF & 3Mdid H, A1 30 7 fabedl 7 3 a8 Iuga I &1 99 Difere

(1) A SRRIEH Bl € AR R, A S Tel B &

(2) ASRRGH U8l € AP R, A T el AR T8l &

3) AGHE AFTRIS T

(4) ATWEITIE APTRILR

Options :

92090656269. 1
92090656270. 2
92090656271. 3
92090656272. 4

Question Number : 69 Question Id : 92090614244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A. and the other is labelled

as Reason (R).

Assertion A. : In wet spinning process , the counter diffusion of solvent and non
solvent are essential in the coagulation bath for fiber formation

Reasons (R) : This ensure a lonstant diameter of the gel fiber

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both A. and (R) are true and (R) is the correct explanation of A.

(2) Both A. and (R) are true but (R) is NOT the correct explanation of A.
(3) A is true but (R) is false

(4) A is false but (R) is true

Options :



92090656273. 1
92090656274. 2
92090656275. 3
92090656276. 4

Question Number : 69 Question Id : 92090614244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 By U MU §: TP HHHYA (Assertion A) F FU  H foifGd & A G 39S HRUI
(Reason R}%F‘J ff;

AMFYT A . de U (31 Ham) WhH H, [Aans iR sifdaras &1 ufafidwRu wiga
() §99 & U Whg Fe (@R 1Y) | S 8 |

HRUIR : Y Sid BIZeR & (R o9 $I AR Ha1 8 |
SRR HYF & 3fdld H, 19 30 70 fab el 7 8 998 Iugd IR &1 999 Hifow

(1)  ASIRRIH TEl € 3iRR, AP T& TRAT &

(2) ASIRREH Hel g, dfch-I R, A DI Hgl ARSAT el &
(3) AWEIE AFTRIETER

(4) AGETEIE AfPTRTEE

Options :

92090656273. 1
92090656274. 2
92090656275. 3
92090656276. 4

Question Number : 70 Question Id : 92090614245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A. and the other is labelled

as Reason (R).

Assertion A. : King yarn of given count shows high tenarity as compuned to rotor spun

yarn of same court

Reasons (R) : In ring yarn, the rate of fiber migration is maps than that of rotor yarn

and also it is less hairy compared to rotor yarn

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)
(2)
(3)
(4)

Both A. and (R) are true and (R) is the correct explanation of A.
Both A. and (R) are true but (R) is NOT the correct explanation of A.
A_is true but (R) is false

A. is false but (R) is true

Options :

92090656277. 1
92090656278. 2
92090656279. 3
92090656280. 4

Question Number : 70 Question Id : 92090614245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 31 HyA QU MU §: U SAUBHYA (Assertion A) B EY  H flGd g dl gET 39D HRUI
(Reason R}ﬁi?ﬁq ff;

By A - B4 3T U B3 &1 1 gH GUE H13< F A gH I a1 H A
At @A) exifan 2 |

HRUIR : &1 g o dq RIFIR $t &R AR IH DI gan H S gl 8, 9rY € 98
e ar & qoT § HH AMA BT |

IURIFd HYA & 3Mcile H, -d iU 7 fabedl # 9 998 Iugdd I 1 I499 S

(1) A SIRRTH T8l & IR R, A P! Tg! RS &

(2) A SIRREH UEl g, dfbd R, A P! Hel oARET 6l &
3) AT ABTIRIQTEE

(4) AWEITEIE AfbTREEN R

Options :

92090656277. 1
92090656278. 2
92090656279. 3
92090656280. 4

Question Number : 71 Question Id : 92090614246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A. and the other is labelled
as Reason (R).

Assertion A. : Modern blow room line shows less fiber rupline as compared to the
conventional and for give quality of cotton fiber

Reasons (R) : Mo. of machines in modern blow room line are less with no of
paints and focus more is given on opening of fiber rotor than the
cleaning, as it is not thme in conventional line where cleaning has given
more importance than openning

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both A. and (R) are true and (R) is the correct explanation of A.

(2) Both A. and (R) are true but (R} is NOT the correct explanation of A.
(3) A. is true but (R) is false

(4) A. is false but (R) is true

Options :

92090656281. 1
92090656282. 2
92090656283. 3
92090656284. 4

Question Number : 71 Question Id : 92090614246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1= €1 Fu fou MU §: Ud SfHFHYUA (Assertion A) F FU  H fafdd & ol g1 39S HRU
{(Reason R}%F‘TI ff;

HUFYTA :  MYFS & FH (U Fal) A HUN | BIZER DI o T3 AR &
URUING IS 1 AU &1 oy [aaro a2 |

PHRUIR : 3YfP AdReH drgd # Tl &1 G& (FH drsd fagsd/Hifen uig<y &l
T HH el & 3R eI WIS &1 Sidar W/dgsh &1 Wiad R Hiad
fora ST & | STa@! URUIRS a1gA | Q91 81 gidl 8, STgl Awls &I g/ =0
&1 @A B 3(0e ¥ Aed feur ST g

SRR HY & 3fdld H, A1 3T 7 fad el H 3 998 Iugad I &1 999 Hifoe

(1) ASRREHA TBIE SRR AP T6l ARAT &

2) A SIRREH 98l g, At R, A DI el AR 8l &
(3) ATEE AFTRIS AR

(4 AWEITRIC ABTRIG

Options :

92090656281. 1
92090656282. 2
92090656283. 3
92090656284. 4

Question Number : 72 Question Id : 92090614247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A. and the other is labelled
as Reason (R).

Assertion A. : Bundle fiber strength tested at 3mm gauge length gives high variation as
compared to tested at zero mm gauge.

Reasons (R) : At 3 mm, there is chance of having more variation with respect 1 mass
length than zero mm gauge length

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A. and (R) are true and (R} is the correct explanation of A.
(2) Both A. and (R) are true but (R) is NOT the correct explanation of A.
(3) A. is true but (R) is false
(4) A, is false but (R) is true
Options :
92090656285. 1
92090656286. 2

92090656287. 3
92090656288. 4

Question Number : 72 Question Id : 92090614247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i3 G FY U MU §: TF SHHBYA (Assertion A) F FY  H fafad 8 @ N1 ITS HRUI
(Reason R}a?%f_":[ ﬁ;

AMBHYTA : 3 mm 7€ dars R T [HT U 50 BR (Gd dd) Pt IHE LI mm T
R ¥ U U ) a1 | srafties e guidi @ |

HRUIR : 3 mm W, GOH/cdls YA mm TS darg &1 ga # $fide o g &1
UG © |

JURIRT YA & 3fTedle H, A1 30 77 fadbetl J § 999 Iugar IR &1 94 Difell
(1) ASRRTH Ul & 3R R, A DI Uet AT &

2) ASRRIAIIE S AFTR AT HSI TBN T

3) AUEE AFPTIRUE TR

(4) ATSTEE ABAIRVE R



Options :

92090656285. 1
92090656286. 2
92090656287. 3
92090656288. 4

Question Number : 73 Question Id : 92090614248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the following statements in context of cotton yarn under tension

A, Crystalinity would reduce____

B Dye up talk would increase

C Bariuim activity number (BAN) would increase
D. Molealer light would increase
E,

celluler | contest to celluler II

Choose the correct answer from the options given below :

(1) B, C.E
(2) A DE
(3) ADC
(4) CD E
Options :

92090656289. 1
92090656290. 2
92090656291. 3
92090656292. 4

Question Number : 73 Question Id : 92090614248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 & dgd HU/gd YR (@led aF) & AIa0 (RREeHE) & e # Mol
YA R faar Sifon

A. fhEddl S1%! HH g1 St

B. 6Id (S15) P 3¢ UgUl d¢ Sl

. dfvaw wftaar Wem @Raw ufdefad deR (BAN) 96 Sem
D. 3] YR §& S

E Oqar | Aqard (| 7 ulkafdd g smem

i1 {3 1Y faehedl H 9 Wel IR &1 994 Hifoy :

(1) B.C.E
(2) A/DE
(3) ADC
(4) C.DE
Options :

92090656289. 1
92090656290. 2
92090656291. 3
92090656292. 4

Question Number : 74 Question Id : 92090614249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements with respect to water jet weaving macline

A Water jet wearing machine required "DM" plant
Rubber coverd emery roller is used on table up mechanism on water jet macline
Water jet machine uses rubber coverd tamples

Water jet is used for weaving of cotton fabrics

m o N o

Water jet machine speed is compartively less as compared to projective weaving
for same width

Choose the correct answer from the options given below :

(1) ABC
(2) B,CDE
(3) CD
(4 ADE
Options :

92090656293. 1
92090656294. 2
92090656295. 3
92090656296. 4

Question Number : 74 Question Id : 92090614249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qrer Sie difd wefiF/erd Sie g5 93 & de # fufefaa syl © far sife

A, d@reR e difdn 7=iF & for “om* wie t srawadd eidl @

B. dIeR Gl Wl &1 Toh-3iU Ab % | @S F MaRd TH ek &1 3udiT faba1 ordr g
C. dex Sl i IaS | Said ‘<iaral &1 Iugh vl Jrar g |

D. dlex oic &1 IJUTNT il 9l D1 g1 J fha1 Sran g |

E deR S WRiF SHF ®1 9 9HE 98T @1 Uleiaersd diar (e ¢[rs) 7L & ger
F PN |

I fau 77U fasedi 7 | 98t IR &1 99 DL ;

(1) ABC
2) BCDE
(3 CD
4 ADE
Options :

92090656293. 1
92090656294. 2
92090656295. 3
92090656296. 4

Question Number : 75 Question Id : 92090614250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The birefying once value of fiber depend upon:

A, Degree of Orientation of molecules
B. Degree of Polymerisution

C. Degree of ____ of molecules

D. _____ Print of Polymer

E. Surface Properties of Polymer

Choose the correct answer from the options given below :

(m A, B, C.
(2) A, B.
(3) B, C.D.
(4) D, E.
Options :

92090656297. 1
92090656298. 2
92090656299. 3
92090656300. 4

Question Number : 75 Question Id : 92090614250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIZER/dq BT AUad AH (AR BhoR-g deg) R svar g
A, U3 & AT & AET W

B. UIRIARISI/Sgeihul B HEAT IR

C. U3l &t A FT HET W

D. YliiHR/dgad o Taidh 0

E OicliiR/dgdd & 9dg 01 )R

413 fau e fasseut # 9 el SR &1 984 Fifem

(1) A, B C

(2) A B

(3) B C. D,

(4) D E.
Options :

92090656297. 1
92090656298. 2
92090656299. 3
92090656300. 4

Question Number : 76 Question Id : 92090614251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements with respect to false twist texturing

A, It is thermo — machnical process

B. There is no set twist in the false twist textured yarn

5 The temperature in the primary heater is hopt as near glass transition temperatures
D. Cooling zone is located beforce the friction twisting zone

E. FDY yarn is used as raw material for draw texting process

Choose the correct answer from the options given below :

(1) A, C, D, Eis correct
(2) A, B, C.is correct

(3) D,E B
(4) CDE
Options :

92090656301. 1
92090656302. 2
92090656303. 3
92090656304. 4

Question Number : 76 Question Id : 92090614251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e U Yogd/wIed feawe Thuaf & daH § Fafafad syl R fER Fifn

A,

B.

U TS W1 FitAd Uiha g

e Ufdd Jgfad dg/wied Rawes SRras o § iy 3¢ UaH/ Raw adiga @
Uit giex & aruHE $id ehHulAAr SioieH diaHE & U 361 &l §
it &= o ¥ &5 9 ugd Rua g @

FDY T/dq &1 IUdnT Y Hgd-/slcaqdiin uftsar F smfvspd anidt & w0 § fean
T ¢ feu T fadedt & @ wEl &1 g

2 fu 7 fasedl & 9 9l IR &1 99 Hifol

(1)
(2)
(3)
(4)

A, CD,E
A B C
D.EB
C BE

Options :

92090656301. 1
92090656302. 2
92090656303. 3
92090656304. 4

Question Number : 77 Question Id : 92090614252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements with respect to tensile behaviar of fibus

A. Primary croop is related to time

B Secondary croop is related to_____

C Elastic s related to tue instantanion determation
D. Valueof __ is related to area under the

E strenght increase as the lenght of ____ increases

Choose the correct answer from the options given below :

(1) B, C, D are correct
(2) A, B, D, E are correct
(3) CDE

(4) A, E. are correct

Options :

92090656305. 1
92090656306. 2
92090656307. 3
92090656308. 4

Question Number : 77 Question Id : 92090614252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W/ERR & a9 AdeR & e # Fafiaa $3 ) R sifn

A, WS He faeuur @iy 99y R e § Safdd §

B. SaidId Hg fawuur (i) wirdt iy 4 dafid 3

C. VR fawyu arapifere Aeu 4 Hafid §

D. faerRw & oM ulded-fAef @u-©) 9o % ded &a%a A YafEa 2
£ WA 31 ddrs dg4 A du- 9 92 SIid1 8 |

419 fau U fasheul # ¥ W&l IR &1 994 Fifor ;

(1) B,CD
(2) ABDE
3) CDE
(4 AE
Options :

92090656305. 1
92090656306. 2
92090656307. 3
92090656308. 4

Question Number : 78 Question Id : 92090614253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements with respect to comber.

A Comber is designed to remove the short fibers.

B. Comber retains the long fiber in the sliver

. Backward combing process remove __ not as compined to forward one
D. Comber required from number of drawing passages in the sequencing
E Comber seperate the fiber mass in the fiber sliver

Choose the correct answer from the options given below :

(1) A, B, C, D are correct

(2) A, B, CD, E all are correct
(3) Only B, C, D, E are correct
(4) Only C, D, E are correct



Options :

92090656309. 1
92090656310. 2
92090656311. 3
92090656312. 4

Question Number : 78 Question Id : 92090614253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR (Hied) & e d gl sl w1 g

A PIER BT T Y I ) R RS TS |

B. iR RaaR (I A da W BT s @ Sar g |

C. USH & Uikl 3 Hb B1 ailiedl HF Teihl &1 Fprad 8

D. ®NeR & ferusimar & HuU Ul (ST UHaw) B GHEE &1 A9 dhdl &
£ @ieR A AR 8 9 W/BEaR S@HH 1 9YS Sl o

#19 fau v faswl § 9 9El IR &1 904 Fifu -

(y ABCD
() ABCDE

(3) B.C,D,E
(4 CDE
Options :

92090656309. 1
92090656310. 2
92090656311. 3
92090656312. 4

Question Number : 79 Question Id : 92090614254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the process hour a polyster cotton blender fabric are carbonise to get 100% polyster
fabric however the suspenser found these material in a non fabric form and lump of
polyster in found following may be

A. Blender fabre are 67/33 of (PET)/cotton) warp possibility

Blend Fabre in 58/42 where wiftin polyster wift i cotton

70% sulphwere and is used for carborizational R.T.

Blender fabric are 80/20 (Polyster/cotton) worp and weft both PET/cotton

m o N o

70% sulphric and is used at boiling condition

Choose the correct answer from the options given below :

(1) B and C is correct
(2) A and E is correct
(3) A.and C is correct

(4) D and E is correct

Options :

92090656313. 1
92090656314. 2
92090656315. 3
92090656316. 4

Question Number : 79 Question Id : 92090614254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s U 8139 H UlditeR — gd Siia 3 &1 Sid-idhd Hid 100% UTdltex 3% U
far a1 guft YURERSR &1 Gl At U H Ui gl 3R Uleiiveer &1 fie (du) fren
3% 9 HRU 1 I @

Ha avd/acss Bisid H 67/33 (PET/EHUTH) &1 dFT R AMT IUdRT f&ar T/
AR 9% § 58/42(@ITHIRY/HIR) § o a1 diaftwe 3R =11 HUTd &1 ¢

R.T. & PIE-1hI0] & [oTU 70% HeH YN 37 1 SN b 71

GEfYa % | 80720 ((HIeiUse/EHUMN) 8, /= aFn SR A1 PET/HUTE GiFi & ©

. ®ayA YA T 70% UeWRIRS Sftd &1 Iudn fhar g

el fdaed &1 g
(1) B3R C
(20 A SIRE
(3) A3IRC
(4) D3R E

Options :

92090656313. 1
92090656314. 2
92090656315. 3
92090656316. 4

m.g2 fH B

Question Number : 80 Question Id : 92090614255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | . Free light feeding system in blow room and card shows minimium

damage / rupter to cotton fibers.

Statement || . free light feeding uses the clamping machanism for feeding the

material which causes reduction in ruptine of cotton fibers.

In the light of the above statements, choose the correct answer from the options given

below:

(1)
(2)
(3)
(4)

Both Statement | and Statement Il are true
Both Statement | and Statement Il are false
Statement | is true but Statement |l is false

Statement | is false but Statement Il is true

Options :

92090656317. 1
92090656318. 2
92090656319. 3
92090656320. 4

Question Number : 80 Question Id : 92090614255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 1 HyA R M &

YA |

. RN (YHHF D8 3R SIS T 1 Farge BIfET Rieed (o IS+ {0 Yorel) it

4Tl 1 gAaH affd/fagRu 1 yefia #di §

HYF || ;. W TdAEe Bifen § gonud e [ &1 Iugin el & R & o & e g
forerd gt et & fagRor & 81 9w g

I HYF & AMaid H, A1 2 10 fawedi # | 98 Iava 994 S

(1)
(2)
(3)
(4)

&Y | 3R 11 G T §
®Y | 3R 11 ST 3 §
HYF | T §, Al B 1l 39T §
HYF | A 8, Afbd Y11 T

Options :
92090656317. 1



92090656318. 2
92090656319. 3
92090656320. 4

Question Number : 81 Question Id : 92090614256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | . In air Texturing process the strength and orgation of yarn decreses
due to increase in bulk which is responsible to reduce the tensile load
contribution of fibers during the tensile test.

Statement I :  The decrease in load contribution of fiber is because of increase in
the cohesins five both the fiber.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

92090656321. 1
92090656322. 2
92090656323. 3
92090656324. 4

Question Number : 81 Question Id : 92090614256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRIFyAfRumUE;

HYF| ;91 YAy (UER caudra) ufdar | dg/ar & e SR Sieifer wwd # 3fE
& HRUI FH 81 SI1d1 & ol a1 Y& & THY Y1 & dud AR TPgH &I HH HA
¥ foru fomier @

U AP YR AFTEH § HHl W/BEad & i HHod 9d & PRUE ¢ |
I HYA & 3Mdld |, i 1SU 710 fawedl § 9 98t I 94 Sifeie

(1) HYFIARNSHI 9 &
(2) YA SR I EHT 39 §
(3) ®UF | A g, Afthd HYF 1| 3T 8

(4) HYF| HI B, AP U 11 T B
Options :
92090656321. 1
92090656322. 2
92090656323. 3
92090656324. 4

Question Number : 82 Question Id : 92090614257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | . Production rate of needle punching powers is high the spun banding
technology.
Statement || . Needle punching uses the concept of thermal banding for developing

the non-woven fabric where as spun banding required chemicals to
form the band to manufacture the non-wowen

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false
(4) Statement | is false but Statement Il is true

Options :
92090656325. 1



92090656326. 2
92090656327. 3
92090656328. 4

Question Number : 82 Question Id : 92090614257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= § sy lRu Mg &
®UF | Asa 9T (e Se) Uit @1 I & WA ditet Hidrfie! & § &9 gl §

®U 11 ;. Aied Ui # @ diaq (([[RA-97) 9% @1 fafRid & & e a-dug (|
qieT) B Hheudl &1 IUGn a1 ST & Safe WA diten # A9-39- 9% &
fomfor % forg @y 991 F o TR 37 Sawear g1l |

IR HYA & 3fdld |, id 65U 710 faeadl § 9 9t 3! 94 Sifee

(1) FY RIS TIE

(2)  HYF R I SHT T &

(3) ®YF | TA §, Alh HYF 1| 3T &
(4) YT MG B, AP HY 11 TT B

Options :

92090656325. 1
92090656326. 2
92090656327. 3
92090656328. 4

Question Number : 83 Question Id : 92090614258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | . X-RD instrument used to study the cnystalline pupertis's of fibers

using braggs low of diffraction

Statement Il :  The wavelength of x-ray is very small oppoximatly equal to 14 ° these

rays are passing penetreted inside the fiber stream.

In the light of the above statements, choose the correct answer from the options given

below:

(1)
(2)
(3)
(4)

Both Statement | and Statement Il are true
Both Statement | and Statement |l are false
Statement | is true but Statement Il is false

Statement | is false but Statement Il is true

Options :

92090656329. 1
92090656330. 2
92090656331. 3
92090656332. 4

Question Number : 83 Question Id : 92090614258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RGPy RRumuE

HYq|

XR/BTeeR & fhed N &1 97 fdad Fga & IUgT SRT g S & U x-
RD JUHTUI &1 U4 a1 ordl &

HYA N x-ray (UEN) B a0 G4 Sgd HH T 1 A° §idl €, T 0l 320 3T §9ae &

3 M W 9= B ddl &

IR HYF & 3l |, A S0 70 fawedi #§ 8 gt 3! 984 Sifog

(1)
(2)
(3)
(4)

HYF | 3R 11 SF T &

DU | 3R || THFT 3 &

HY | T 8, Al HYA 1 A B
HY | AT @, AP FYT 1 TI

Options :
92090656329. 1
92090656330. 2



92090656331. 3
92090656332. 4

Question Number : 84 Question Id : 92090614259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | . yarn spun bon DREF- Spinning machins is course than ring spun yarn
because the width of spinning triangle on DREF spinning is lower as
compaired to ring spinning.

Statement Il :  Number of fibers in cross cotton of DREF spun yarn are higher than
that of ring spun yarn of same spinning triangle width.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090656333. 1
92090656334. 2
92090656335. 3
92090656336. 4

Question Number : 84 Question Id : 92090614259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R HERTmE

®YT| : DREF- UM @arm) a9 ® g1 T dg R 9u= dq 9 st dier gran g
Fiifes D R E F— Ul 7 faufinr B i dier fo i st gan A sn et 8

®YF 11 : DR E F & IF/dd & SR uRede # 3101 &1 W guF Ryt e diers &
o1 T o Y ga A ot 1 B |

IR DY & 3clid H, Hid S 71u [deedl § 9 9l 3! 984 Difog

(1) SYHISRIGATIIdE
(2) YIS EHT T §
(3) HYFI A 8, Al FUA Il A &
(4) YT EI 8, AfFT FYT 11 T B
Options :
92090656333 1
92090656334, 2

92090656335. 3
92090656336. 4

Question Number : 85 Question Id : 92090614260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | . Polypropylene fiber is dyced using mass colouration process.

Statement || . Polypropylene is low density fiber and flouts on the water.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false
{(4) Statement | is false but Statement Il is true

Options :

92090656337. 1
92090656338. 2
92090656339. 3



92090656340. 4

Question Number : 85 Question Id : 92090614260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEECAIE AT

HYF | A BIEaRAY Bt TS Jefd I @ HEReH) Uik & IuanT ¥ &
w8

FYF || : Ty HH 99 d P12 ¢ 3R od W didl &
I HYA & 3fdld |, i S0 710 famedl & 9 9t Iavd! 994 Difog

(1) ST AR 1S T

(2) HYTI SR ISH ST &

(3) DY FA g, Al HYA |l 3 &
(4) BYT| AT T, AlBT YT 11 FT B

Options :

92090656337. 1
92090656338. 2
92090656339. 3
92090656340. 4

Question Number : 86 Question Id : 92090614261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | . tensile / mechanical strenght of knitted fabric is tested on bursting
strength tester because knitted fabrics are elastic in nature.

Statement Il :  this is because of crimp inter change effect, which is observed on
tensile testing of knitted fabrics on bursting strength tester.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement |l is true

Options :

92090656341. 1
92090656342. 2
92090656343. 3
92090656344. 4

Question Number : 86 Question Id : 92090614261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIE R AICATA R

HUF | g1 §U I DI /A1 S A B S UIble (@R W) Udadl e’ I &1 il
¢ Fif §7 U %1 B UPh TRy gt B

B || - TH a¥fradn fafFmg ([ Sexa) UHE & $RU BT § Sl USbie Uaadl @red
W) ¢ W g gU ol B d--d1 ofid & THY ol ol § |

IS HYF & Maid H, 1 {3 10 fawedi # | g Iava! 994 Sifoe

(1) &Y AR ISH 9d &
2) FYFIRISH HA§
(3) YA HA ©, dlh HYF Il 3T 8

(4) BYTI NI, AfbTI FUT I TIE

Options :
92090656341. 1



92090656342. 2
92090656343. 3
92090656344. 4

Question Number : 87 Question Id : 92090614262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(Type of bonding) (Bonding are in dyed
material)
A. Coralent boning (I}  Direct -cellulose
B. Hydrogen bonding () Reactive dye- cellulore
C. Solid solutiontheory (1) Pigmant- cellulose
D. Mechanical bonding (IV) Dispense dye-polyster

Choose the correct answer from the options given below:

(1) A-(l), B-(Il), C-(1), D-(IV)
(2) A1), B-(lln), C-(1), D-(IV)
(3) A-(), B-(I), C-(1), D-()

@) A-(I1), B-(1), C-(1V), D-(lI)

Options :

92090656345. 1
92090656346. 2
92090656347. 3
92090656348. 4

Question Number : 87 Question Id : 92090614262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & |1y = 1 & e Sifere
Y- (@ PTISR) et 11 (ot g€ ann & et ST ®)

A, gggdrsl deF ()  WcHe ¥l — e

B. ERaloH dyd (y  fAfbariiaiss - qard
C. 7 fouad g () duid - Agard

D. JifA® ¥ (Iv) UHlIftid 3I9F qidiveer

1 fau v fasedi # 9 9El IO &1 984 DI

(1) A-(ll1), B-(I1), C-(1), D-(1\V)
20  A-(l), B-(lI), C-(1), D-(IV)
(3)  A-(IV), B-(I), C-(1), D-(IV)
(4)  A-(I1), B=(1), C-(IV), D-(I1)

Options :

92090656345. 1
92090656346. 2
92090656347. 3
92090656348. 4

Question Number : 88 Question Id : 92090614263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List II

(Weaving process) (Type of element)
Airjet weaving l) Booster nozzle
Rapier weaving ll) Suction nozzle

(
(

Gripper Shuttle Weaving () Tiptranster
(

o N wm B

Water jet weaving IV) Tortion bar

Choose the correct answer from the options given below:

(1) A-(l), B-(IV), C-(11), D-(11l)
(20  A-(IV), B-(I), C-(1), D-(1l)
(3)  A-(IV), B-(1), C-(1l1), D-(ll)
(4)  A-(I1), B-(Il1), C-(IV), D-(1)

Options :

92090656349. 1
92090656350. 2
92090656351. 3
92090656352. 4

Question Number : 88 Question Id : 92090614263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Ay = 11 1 e S

G-I T -
A TOR- 9 §IE () T
B. U () SR (0T A
C. PrR-weaq s (i  feu eramR /R eETaR
D. deR-uic g5 (V) TRAER (@34 E8)

12 fdu Tt fasedi @ 9 9t IR &1 994 DifIT;

(1) A-(l), B-(V), C=(I1), D-(IV)
2 A-(IV), B-(Il), C-(1), D-(I)
(3)  A-(IV), B-(1), C-(l1), D-(I)
@) A-(I1), B-(I), C-(1V), D-(l)

Options :

92090656349. 1
92090656350. 2
92090656351. 3
92090656352 4

Question Number : 89 Question Id : 92090614264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
A. Balancing ()  Activated carbon bed
B. Flocculation () PH adjustment
C. Adsorphan (y BOD
D. Oxiygen consumphan (IV) polyelectriytc

during biological
decomposition

Choose the correct answer from the options given below:

(1) A-(IV), B-(1), C-(111), D-(11)
(2)  A-(ll1), B=(11), C-(1V), D-(1)
(3)  A-(Il), B-(IV), C-(1), D-(1l)
@)  A-(IS), B-(llt), C-(It), D-(IV)

Options :

92090656353. 1
92090656354. 2
92090656355. 3
92090656356. 4

Question Number : 89 Question Id : 92090614264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |y = 11 B e S

G-I LG
A.  Tgad () Wichlld HTE- &R
B. $UM () PH HMESH
C. ity () BOD
D. Gfd® faves & @y (v) UffEdeese
SIS ITHFT

412 feu e fasredi & | 9l IR &1 984 DI

A-(IV), B-(I), C-(l11), D-(1)
A-(1I), B-(I1), C-(IV), D-(1)
A-(Il), B-(1V), C-(1), D-(1l)
A-(1), B-(111), C-(11), D-(IV)
Options :
92090656353. 1
92090656354. 2

92090656355. 3
92090656356. 4

Question Number : 90 Question Id : 92090614265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List 11
A. To remove protruding fibre () Shearing and cropping
B. Toremove nature  matter () Desizing
C. To remove ntarch from grecy fabric () Bleaching of cotton
D. Toremove box fibre and yarn (IV}) Singeining

Choose the correct answer from the options given below:

(1) A=(ll), B-(1), C-(Il1), D-(IV)
(2) A=), B-(1), C-(1V), D-(II)
(3)  A-(IV), B-(1lI), C-(Il), D-(1)
(4)  A-(l), B-(I), C-(Il1), D-(IV)



Options :

92090656357. 1
92090656358. 2
92090656359. 3
92090656360. 4

Question Number : 90 Question Id : 92090614265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | & |y gt 1 1 e Difon

| gt -

A dRgERG dd B () H B IR fUDA
BEANGLE

B. Upfad ¥s &t Al () fafgesuA
CARCEAGE|

C. MUitsHpd ovd ¥ ¥ () FIR/YD BT faieH
EARCEAGE|

D. oY ¥ 3R dg @) (v) Fewr
CARCEANE)

12 fau Tt fasedi # 9 9l IR &1 984 Difle:

(1) A-(I), B-(1), C-(li1), D-(IV)
(2)  A-(l), B-(1), C-(1Iv), D-(l)
(3)  A-(IV), B-(Il1), C-(I1), D~(I

)
(4) A-(1), B-(I1), C-(111), D-(IV)
Options :

92090656357. 1

92090656358. 2

92090656359. 3

92090656360. 4

Question Number : 91 Question Id : 92090614266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
A.  Denier (I} Fineness
B. Twist () Tenacity
C. Grams per denier (1) gooom
D. Count (IV) Tpi

Choose the correct answer from the options given below:

(1) A-(IlN), B-(I\V), C=(l1), D-(1)
20 A-(l), B-(1in), C-(V), D-(l1)
(3)  A-(IV), B-(I), C-(1), D-(l1)
(4)  A-(I1), B=(1), C-(IlI), D-(I\V)

Options :

92090656361. 1
92090656362. 2
92090656363. 3
92090656364. 4

Question Number : 91 Question Id : 92090614266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e VKGR ERIEEdIE

-1 Tt -1
A THEIRIIDIZHRAT () JEAI
B. feswe/dad (I el
C.  gmufd AW (ny T
D. FI3< (V) Tpi

I fau e fasedl ¥ | 9l IR &1 994 Difre;

(1) A-(lI1), B-(\V), C-(11), D-(1)
(2)  A-(1), B-(Il1), C-(IV), D-(II)
(3)  A-(IV), B-(I1), C-(1), D-(ll1)
(@)  A-(I), B-(1), C-(1ll), D-(IV)



Options :

92090656361. 1
92090656362. 2
92090656363. 3
92090656364. 4

Question Number : 92 Question Id : 92090614267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l :

List | List Il
A.  Absorbent Finish ()  Sports matures
B. Antistatic fsinish (1)  Tent cloth
C. Rot proofing finish (1) Acrylic
D. Water repellent finish (IV) Surigical cotton fabre

Choose the correct answer from the options given below:

(1) A-(IV), B-(111), C-(11), D-(I)
(2) A-(1), B-(I1), C-(111), D-(IV)
(3) A-(Il), B-(IV), C-(1), D-(l11)
(4) A-(111), B-(1), C-(1V), D-(ll)

Options :

92090656365. 1
92090656366. 2
92090656367. 3
92090656368. 4

Question Number : 92 Question Id : 92090614267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |y = 11w e S

gl-| Tt -
A e uRmsn fiefar () @ gl
B. Ufawife® ufvdw () o< B HUS
C. fare= et ufiras (1) Ushlifers
D. AU N Ui (V) 2" (i) Folad

42 feu v fasedi # | 9l IR &1 I9A ST

(1) A-(IV), B-(1l1), C-(I1), D-(1)
(2) A1), B-(IN), C-(Il1), D-(IV)
(3)  A-(ll), B-(v), C-(1), D-(IIn)
(4)  A-(lI1), B-(1), C-(1V), D-(II)

Options :

92090656365. 1
92090656366. 2
92090656367. 3
92090656368. 4

Question Number : 93 Question Id : 92090614268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List II
Nonworm Technology Type of elements require
A.  Needle punching ()  Extruder
B. Spunlacing () Compound needle
C. Sbtch bonding (1) Water jet
D. Spun bonding (IV) Stripper plate

Choose the correct answer from the options given below:

(1) A-(l), B-(I1), C-(Il1), D-(IV)
(2)  A-(IV), B-(llI), C-(I1), D-(1)
(3)  A-(ll), B-(1V), C-(1), D-(II)
(4)  A-(ll), B-(1), C-(Il1), D-(IV)

Options :

92090656369. 1
92090656370. 2
92090656371. 3
92090656372. 4

Question Number : 93 Question Id : 92090614268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & ary gt | &1 e Sifor

G- A 11 (SIS 3dTd)
CIBICE)
A YEIEyE/AfSAURT () TEHESR (Extruder)
B. TR (1) g Hi/hurds Aisd
c. Reasi=n () dEeISe
D. & SIS (Iv) W (fquees)

= fau e fasedi | 9l IR &1 994 DI

(1) A-(I), B-(l1), C-(111), D-(IV)
()  A-(IV), B-(1), C-(l1), D-(1)
(3)  A-(lI1), B-(IV), C-(1), D-(Il
(4)  A-(I), B=(1), C-(1l1), D-(IV)

Options :

92090656369. 1
92090656370. 2
92090656371. 3
92090656372 4

Question Number : 94 Question Id : 92090614269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In order to get stable falene conrect to fashion garment following process are adopted in
table industry

A. Plolyster maternl is given dimentional stabilily by heat setting treatment at

180 210°C.

100% cotton fabric is given sanforizing treatment to get donemioruly stable nature
Woot natural is given crabbing treatment to get dimenstelly stable fabric

100% cotton/ zero zero shrunkge to get dimenslone stable

m QO O W

viscore matenel is given heat setting protinat at 50 to 60°C

Choose the correct answer from the options given below :

(1) A B CDonly
(2) B,C D, Eonly
(3) A CD,Eonly
(4) A D, Eonly

Options :

92090656373. 1
92090656374. 2
92090656375. 3
92090656376. 4

Question Number : 94 Question Id : 92090614269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9% I8 # fFd a3 &1 ByH uie@ # uRafdd 33 & e Fafefaa ufssar &1 soamn
EIGIGE

A, UidieeR At &1 foufgeiidd 180-210° ¢ WR dURRY IU=R gR1 & e &
B. 100% Yl 3% 9 faritg fRR amdl urd 3 & T BRI IuaR &g o g
C. il avd ¥ fauiiy feR o¥d Ui oA & forg e SuaR fear oirar ¢

D. 100% Yl 3% &1 T R IU=R ¥ I9A fariiy wifta urd gidr 8

E. o amd &) 50-60° W dU-fRRU Iu=R faar §rar g

< fa 7T¢ faseul # 9 Hel IR &1 99 Sifore -

(1) dd A B C D
(2) &dd B, C,D,E
(3) &dd ACD,E
(4) dd A D,E
Options :

92090656373. 1
92090656374. 2
92090656375. 3
92090656376. 4

Question Number : 95 Question Id : 92090614270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements to the respect to draw frame

A Draw from open the fiber mass and clean the impurity within it

B. Draw frame gives attribution treatment and improve the orientation of fiber
L. Draw frame impure the everness of the silver without changing the hank

D. Draw frame given parallal wound packeges

E. Draw frame required minimum one pair of roller

Choose the correct answer from the options given below :

(1) A, B only
(2) C, B only
(3) A, C, D only
(4) A, D, Eonly

Options :

92090656377. 1
92090656378. 2
92090656379. 3
92090656380. 4

Question Number : 95 Question Id : 92090614270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31560 (Y I51) & HoH A Fufifad sy R R S

A S1THH I RS Bl GITdR 3 B Y P R B @

B. 3IThH &fluH IUDIR adl 8 3R I & 3(fHfHar &) dgar 9911 8

C. SIhH Tl (8) B uRafdd U 7R R () 31 Ueudl &1 dgaX a1 &
D. 3IhH AR g4 9l gl g

E SIThA S U 1 4 0 AR & Ud Sie B HIGDHdl gldl &

1= feu o fawedi § 9 98l I &1 994 DIt :

(1) &dd A B,

(2) &dd C B,

(3) &dd AC D,

(4 &dd AD,E
Options :

92090656377. 1
92090656378. 2
92090656379. 3
92090656380. 4

Question Number : 96 Question Id : 92090614271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements with respect to the properties of different fabric
structure.

A Plain weave shows more number of touching paints and shows into tensile
strength

B Twill weave has more floats as compound to satin fabric

C sateen is warp way weaving and shows high tensile strength

D. plain weavs shows diagonal line across the width of fabric

E.

satin fabric shows more softnes compound to plain woven fabric

Choose the correct answer from the options given below :

(1) A, D only
(2) A, B, Conly
(3) B, D, E only
(4) C, D only

Options :

92090656381. 1
92090656382. 2
92090656383. 3
92090656384. 4

Question Number : 96 Question Id : 92090614271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



% g1ae & 3 o % Hed 7 Fufefed syl ) far S

A, e ®EAGAE) § ot @ H difd Ui (3ifiEeE f{§g) 8 € SR 3 sifte aa
gy ufeeifd #d g |

B. cdid & (§15) H T ad &1 qa-l | SHitd Udie gid g
C. FTH B TS ? iR 3= o wmyd vedffa i €

D. I A (§1%) 3% 3 I drers | [l 3@ yasiid dvdl §
E. e & 9% TIel 9 9% B ga1 | i ggar a9ia @

F4 fau mu fasel § & wEl IR &1 90 Fifou -

(1) &ddA D

(2) $ddABC

(3) &ddB,D,E

4) &dd C, D
Options :

92090656381. 1
92090656382. 2
92090656383. 3
92090656384. 4

Question Number : 97 Question Id : 92090614272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With respect to get quality white discharge printing follow points are in consideration

A, Polyster fabric should be given mild xonry and heat setting process
B Dispare dye of azo type should be used as ground shade

£, Dispere dye of anthrequilone based should be used as ground cloth
D

safoline (zinc sulphoxylali formaldelyde) is used as discharging agent with optical
bright treatement

E. pad with ground colour- dry — print with safoline and thermofrxaja at 175-180°C
30-60 sec dwell time to be adopted

Choose the correct answer from the options given below :

(1 A, B, C Only
(2) A, B, C, E Only
(3) A B D, EOnly
(4) C, D, E Only

Options :

92090656385. 1
92090656386. 2
92090656387. 3
92090656388. 4

Question Number : 97 Question Id : 92090614272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



331 T 1 AT SUTg Ui A & fore Fofafad fagsi w faar faa s g

A, UIdUeR 9% &1 4g 39S SR a9 FRRoy ufdsar 3 S =gy

B. ol UPR & URIEG {oiehl &1 e/ U3 AS & ¥4 H YN 61 A1igy

C. T¥sIaH d Ufan IS &1 U ded T & FU | ST AfgT

D. dBIfeH (id TepiRie BiHEisess) & SUan

E A%ifeH ¥ dawy T1-Y6H- BUE a1 08 3R 175-180°C W AR, 30-60 dfds

@I I 3fafy (F9d <1ZH) B U =T
1= feu o fawedi § 9 98l I &1 994 DIt :
(1) $ddA, B, C
(2) $HddA B CE
(3) $ddA,B,DE
(4 &dd C, D, E

Options :

92090656385. 1
92090656386. 2
92090656387. 3
92090656388. 4

Question Number : 98 Question Id : 92090614273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With respect to silk and wool fibers following statement are discnbed in order to use it in
chemical processing

A, Silk is highly sensitive to alkals while wool is not

Silk is smooth while wool has scales on the surface

Silk is mostly compound of a few amino ___ while wool has many more

Silk has higher crystallenity

m B2 6

Silk is dyed with disperse dye and wool is dyed with speual dispose dyes of ago___

Choose the correct answer from the options given below :

(1) B, C, D Only
(2) A, B, E Only
(3) A, D, E Only
(4) A, E, C Only

Options :

92090656389. 1
92090656390. 2
92090656391. 3
92090656392. 4

Question Number : 98 Question Id : 92090614273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. YW e gl & Tafth &1 P Wde W Uewh/ha 8ld &

C. M JEdl $& THIH! 37l &1 91 8ldl ¢ ol & § oH® ald ¢
D. W # it fheedaadr gidl §

WA $ uRfing W9e (3w 215) 9 ¥ Bl 91§ 3R S 3 Ul snyia fa9w
Uﬁf&mmﬂﬁwﬁaﬁmﬁ%

1 feu U faeedi § 9§ 9el IR &1 944 Hiferg :

(1) @&dd B,C,D

(2) hddA, B, E

(3) $HddA,D,E

(4) dd AEC
Options :

92090656389. 1
92090656390. 2
92090656391. 3
92090656392. 4

Question Number : 99 Question Id : 92090614274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statement with respect to bio- polishing of ____

A. Bio-polishing uses the ____ in the process

B. Strength of bio-polished fabric is low compaired to conventional stone wash
treatment

s Of bio-polyshed deinum is harsh as compaired to stone washed fabrics

D. Bio polishing is an ecofriendly process

E. Biopolyshing treatment required pH stabilizer

Choose the correct answer from the options given below :

(1) A, D Only
(2) A, B, E Only
(3) A, C, D Only
(4) D, E, Only

Options :

92090656393. 1
92090656394. 2
92090656395. 3
92090656396. 4

Question Number : 99 Question Id : 92090614274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C.  Ofbio-polyshed deinum is harsh as compaired to stone washed fabrics
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E SRR IU=R & R pH fRRE /R adEeR $1 srawgsd ad &
#19 fau v faswl § 9 9El IR &1 904 S -

(1) &adA D

(2) HddA, B E

(3) HddACD

(4 HddD,E,
Options :

92090656393. 1
92090656394. 2
92090656395. 3
92090656396. 4

Question Number : 100 Question Id : 92090614275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1007- Cotton RED fabric having following charectnistics to be accepted in market.

A. No 1005 thread on fabric surface

B fabric have standed absoption class than 3 sec.
L dirnmantional stability as per standauds

D. No-width to width variation in fabric
E

sizing inpurity on fabric since it is dosized with standard norms

Choose the correct answer from the options given below :

(1) AB CD, EOnly
(2) A, B, D Only
(3) B, D, E Only
(4) C, D, B Only

Options :

92090656397. 1
92090656398. 2
92090656399. 3
92090656400. 4

Question Number : 100 Question Id : 92090614275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dI6IR § 100% Pl Y8 avd fors fAafafad 1or g1 &1 wWigd fBarsmarg
A % B UdE W BIS Y Y T &

B. % Pl WM ALy (3 s AHH)

C. WFDIF R iy =@ g

D. dWH IS dsrs &I i gl &l

E.  sizing inpurity on fabric since it is dosized with standard norms
4 fau mu fasdel 7 ¥ wel I &1 9U Fifoe

(1) ®ddA, B CD,E

(2) &ddA B, D

(3) &ddB,D,E

(4) $ddC D,B
Options :

92090656397. 1
92090656398. 2
92090656399. 3
92090656400. 4



